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®OPPETHU ONEPALIUUN

aou. A-p 3apaska [xaHaapmoBa

Pe3rome: BbB hopdeTHUTE caenku yqacTeat
npogaead, KynyBad Ku GaHka. Kato 4eTtBbpTH
areHT B caenkarta MoHskora yyactea u H6aHka Ha
KynyBaya, KOATO rapaHTupa mnoracsiBaHeTo Ha
abnra  nNo  MeHuTenHuuuTe. Bcska ot
yyacTBalimMTe CTpaHM B cpenkata npecnegsa
cobcTBEHU Lienu.

Knwoyoeu OJdymu:. dopdetnpaHe, 6aHka,
onepauun, Kynyead, npopaBad, MEHUTENHWLA,
nVXBa, KpeauT, CToka, KpeauT, pUcK

dopgetnpaneto (forfeiting) ce nanonsea

npu npogaxbara Ha ronemu ObGeKkTw
(komnnekT obopyaBaHe, Kopabw,
npeanpusaTvs, ronemu naptuauv  CTOKW).
KynyBaybT (BHOCUTENAT) npngobuea

00eKkTMTE B MOMEHT, KOrato He npuTexasa
napuyHn pecypcu. EpgHoBpemeHHO C TOBa
npogaBaybT (M3HOCUTENAT) CbLWO HE € B
CbCTOSIHME [a OTCpPOYM noSlydYaBaHETO Ha
napute B 6baelle n Aa npogage crokaTta Ha
KpeouT. 3a ga ce OoCcbWecTBM caenkaTta,
KynyBaybT nognucea KOMMMEKT oT
MEHUTENHMLM Ha CyMa, paBHa Ha CTOMHOCTTa
Ha CcToKaTa, BKIYUTENHO nMxBaTa 3a
KpeauTa, KOWTO ce NpedocTaBs Ha KynyBaya
oT npoaasava. CpokoBeTe Ha
MEHUTENHULMTE ca paBHOMEPHO
pasnpeaeneHn BbB BpemeTo.OBUKHOBEHO ce
npeaswxgaT paBHU WHTEpPBanM OT BpeEME
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Abstract: In forfetnite deals
involving seller, buyer and banka. Kato
fourth agent in the transaction
sometimes participates Bank of buyer
that guarantees the repayment of debt
menitelnitsite. Vsyaka of the parties
involved in the transaction own aims.
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Forfeiting (forfeiting) used in the
sale of large objects (set of
equipment, ships, enterprises, large
consignments of goods).
Kupuvachat (importer) acquires
sites at a time when it has cash
resources. Simultaneously, the
seller (exporter) is not able to defer
the receipt of money in the future to
sell goods on credit. To effect the
transaction, the buyer signed a set
of bills to an amount equal to the
value of the goods, including
interest on the loan that is provided
to the buyer by the seller. The terms
of bills of exchange are evenly
distributed in vremeto.Obiknoveno
provides regular intervals
(semesters) between payments

17



Innovation and entrepreneurship, ISSN 1314-9253

Volume IV, number 2, 2016

(nonyrogmnga)  Mmexagy — nnawaHuaTa Ha
MeHuTenHuuute.BegHara cnep kato nonyyu
noptdenna ot MEHUTESNTHULUM, NpoAaBavYbT ro
CKOHTUpa B GaHkaTta M nonyyaBa napute B
CaMOTO Ha4varno Ha cgenkarta. 1o To3n Ha4vH
KynyBaybT He ce KpeauTupa oT npogasaya, a

KpeauTbT Cce npegocrtaBa  U3USNO  OT
baHkara.
baHkaTta kato dhopdeTupa caenkaTta,

noema uenusa puck Bbpxy cebe cu. BobB
dopdeTHUTE CcOenku yyacTtBaT npoaasad,
KynyBady m 6aHka. KaTto 4eTBbpTM areHt B
caenkata noHgkora y4yactBa M ©OaHka Ha
KynyBaya, KOSATO rapaHTupa noracsiBaHeTo Ha
abnra no  MeHutenHuuute. Bcedka o1
yyacTBalumMTe CTpaHu B caenkarta npecrneisa
cobCcTBEHM LEenu.

1. Uen Ha npopaBava

Mpy CKOHTUPAHETO Ha MeHUuTenHuuuTe,
TOW ce CTpeMu Oa nosiyym cyma, KOSTO Ada
CbOTBETCTBAa Ha LUeHaTa Ha npojageHarta
CTOKa (M3BbpLUEHA ycnyra).

dopgeTnpaHeTo no3BoJsisia Ha
npogasava:

* [la OCUrypun Ha KynyeBada Heobxoaumus
KpeauT (3a Yyxga cMmeTka)

* fa nony4m HeobGxoaumuTe My napu B
HayanoTo Ha cgernkaTta M No TO3M HayvH Aa
OTCTpPaHW pucka OT OTKa3 Ha KyrnyBaya fa
nnatm n pucka, cBbp3aH C kKonebaHuata B
NNXBEHUTE CTaBKW,KAKTO W Ja nonyyYn wu
apyru epekTu.

2. Uen Ha KynyBaua

Ton ce cTpemn ga nosiyum Npoaykumsa c
Han-mankn pasxoan. dopdeTnpaHeTo OaBa
Bb3MOXHOCT Ha KynyBada ga nosy4u ctokarta
Ha KpeawrT.

3. Mo3nuuna Ha 6aHKaTa

3a baHkaTa dopdeTmpaHeTo e
CKOHTMpalla onepaums. EdektnBHocTTa 1
3aBMCU OT AMCKOHTHaTa cTaBka M 6posa Ha
MEHUTENHULMTE.

menitelnitsite.Vednaga having
received the portfolio of bills, vendor
discounts it in the bank and receive
money at the outset of the
transaction. Thus the buyer does
not credited by the seller, and the
credit is provided entirely by the
bank.

Bank as forfeiting transaction
takes all the risk on themselves. In
forfetnite deals involving seller,
buyer and banka.Kato fourth agent
in the transaction sometimes
participates Bank of buyer that
guarantees the repayment of debt
menitelnitsite. Vsyaka of the parties
involved in the transaction own
aims.

1. Purpose of the seller

In discounting of bills of exchange,
he sought an amount that
corresponds to the cost of goods
sold (services rendered).

Forfeiting allows the seller:

* Provide the buyer the necessary
credit (for hire)

* To get the needed money at the
beginning of the transaction and thus
remove the risk of failure of the
buyer to pay and risk associated with
fluctuations in interest rates, as well
as receive other effects.

2. PRICES buyer

It seeks to obtain products with the
smallest razhodi. Forfetiraneto allows
the purchaser to obtain goods on
credit.

3. Pozitsiya bank

The bank is forfeiting discounted
operatsiya. Efektivnostta depends on
the discount rate and the number of
bills of exchange.
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®nHaHCOBU N3YUCTIEHNA NpU NpoaaBaYa
OnpepgensiHe cymata Ha MEHUTeNHULUTE
MpopaBaybT TpsAbBa fOa nonyuu npu
CKOHTUPAHETO Ha MEHUTEeNHUUUTE CcyMma,
paBHa Ha LeHaTa Ha cTtokaTa. Cymara, KoaTo
ce Bnuca B MeHutenHuuute (Vi), ce cbCTon
OT ABa enemMeHTa (cwr. 1.) — AbNAr n nuxea.

Financial calculations seller
Determining the amount of bills
of exchange

The seller must obtain at
discounting of bills of exchange
amount equal to the price of stokata.
Sumata that is entered in bills of
exchange (Vt), consists of two
elements (Fig. 1) - debt and interest.

Vi

Cyma Ha meHuTenHuuarta
Sum a bill of exchange

Obnr Ha kynyBada (LeHM Ha cTokaTa)
Debt buyer (Commaodity prices)

®wur. 1. CbcTaBHM YacTu Ha cymaTa Ha
MeHuTenHuuaTa

Jlnxeata ce onpeaens no ABa HavnHa:

a) nNuxea BbPXYy OCTaTbka OT Ablra.
CpoOKbT, 3a KOUTO Ce Hauucnsiea, 3anoysa
OT  MOMEHTa Ha npealwecTeallaTa
MEHUTENHULA;

6) nuxBa BbpPXy CymaTa Ha Abnra,
BKMNtOYEeHa B MeHuTenHuuaTa.B 1o3u cnyyamn
CPOKbT Ce u3uMcnsBa OT Ha4vanoTo Ha
coenkata OO MOMeHTa Ha noracsiBaHe Ha
MeHuTenHuuarta. bunrbT 1 gBaTta BapuaHTa
ce noracsiBa C egHakBu CyMu.

BbBexxgame cnegHUTE O3HAYEHUS:

n — 6pon Ha MEHUTENHULNTE;

l, — npocta nuxBeHa CTaBka 3a
nepuwoda, 3a KOWTO Cce  U3BbpLIBaA
KpeanTnpaHeTo;

d — npocta AWCKOHTHa CTaBka, KOSITO
GaHkaTa npunara npu CKOHTMpaHe Ha
MEHUTENHULUTE;

P — ueHa Ha cTokaTta. AKO Mo JOroBop
ce nnawa aeaHc, TO TOM ce npucrnaga ot
LieHaTa 1 He y4acTBa B U34YMCIIEHMETO.

Jlnxea interest

Fig. 1. Components of the amount of
the bill of exchange

Interest is determined in two ways:

a) interest on the remainder of debt.
The time, which is calculated starting
from the moment of the previous bill of
exchange;

b) interest on the amount of debt
included in the bill. V this case the
term is calculated from the start of the
transaction until the redemption of the
bill of exchange. Debt and both
versions is repaid by equal amounts.

We introduce  the  following
indications:

n - number of bills of exchange;

I - simple interest rate for the period
for which lending is done;

d - simple a discount rate that the
bank applies to the discounting of bills
of exchange;

P - price of the commodity. If under
contract are paid an advance, it is
deducted from the price and is not
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|. BapuaHT “a”.

BbB BCSka MeHuUTEnHMUa ce 3anucBea
cymarta P/n. JlnxsaTta 3a kpeaunta obpasysa
cnegHua pea:

(1) P, P.i(l—lj,...,Pi[l
n

involved in the calculation.

l. Variant "a".

Each bill of exchange is recorded
sum P/n. The interest on loan form the
following order:

EE

n n

Cymata Ha MeHuTenHuuaTa, KoATO ce The amount of the bill of
noracsiea B MOMeHTa t, e: exchange, which is repaid at the
time tis:
) V, =Py Pj(l—t—_1 :E[1+(n—t+1).i].
n n n
O6warta cyma Ha HauducreHata nuixea € The total amount of accrued
paBHa Ha: interest is equal to:
o t-1) _n+1 _.
3 Pi 1-—|=——Pi.
@ S5
CymaTta Ha nopTtensna oT MEHUTENHULM € The amount of the portfolio of
paBHa Ha: bills is equal to:
(4) SV, = P(1+ N2+1.ij.
Il. BapuaHT “ 6" [I. Option "b"
Mpw Hero umame: In him we have:
(5) V, :E.(l+t.i); t=1,2,....n
n

CymaTa Ha nuxBaTa 3a Uenus nepuog e
paBHa Ha:

(6) SV, -P= ZE.(lﬂ.i)

MonyyaBa ce CbLWMAT pes3ynTaT, KakTo U
npyn BapuaHT “a@”. Pasnukata e B
pasnpeaeneHneTo Ha nuxeaTa no nepuoau.

lIpumep 1.

3a Oocmasekama Ha OadeHa cmoOKa Ha
4.04.1997 e. ca uzdadeHu 6 MeHUmMesnHuyu,
rnoeacsisaHu Ha 6 meceua. CmotliHocmma Ha
cmokama e 12 000 000 niesa. JluxeeHama
cmaeka 3a kpeduma e 18% eoduwHo (npocma
niuxea).

Ha ce onpedenssm no deama memooa:.

a) fluxeeHuUme rnnauwaHus,

6) cymama Ha MeHumesnHuyume.

PeweHune:

The amount of interest for the

entire period is equal to:
n+1

-P=—"Pi.
2

Obtained the same result as in
option "a". The difference in the
distribution of the interest periods.

Example 1.

The supply of a given commodity
on 4.04.1997, were issued 6 bills,
repayment of 6 mesetsa.Stoynostta
of goods is 12 million
leva.Lihvenata rate for the loan is
18% per annum (simple interest).

Be determined by two methods:
a) interest payments;

b) the amount of bills of exchange.

Solution:
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PelweHneto Ha npumep 1. e npeacraBeHo

The solution of Example 1 is

B Tabnuua 1. presented in Table 1.
Table 1.
Ta6nuua 1.
t P/n Bapuanr ,a” Bapuant” 6’
Version "a" Version "b"
AUX8a, J16. Vo AUX8a, J16. Vo
interest lev interest lev
1 2 000000 | 1080 000.00, 3080 000.00{ 180 000.00 | 2 180 000.00
2 2 000 000 900 000.00| 2 900 000.00; 360 000.00 | 2 360 000.00
3 2 000 000 720 000.00| 2 720 000.00; 540 000.00 | 2 540 000.00
4 2 000 000 540 000.00| 2 540 000.00; 720 000.00 | 2 720 000.00
5 2 000 000 360 000.00| 2 360 000.00; 900 000.00 | 2900 000.00
6 2 000 000 180 000.00| 2 180 000.00| 1 080 000.00; 3 080 000.00
3780 000.00f 15 780 000/08 780 000.00{ 15 780 000.(

CymaTta Ha nuxeaTa B [ABaTa BapuaHTa e
efHakBa. PasnpeneneHveTo Ha nnawaHusaTta
€ MNPOTMBOMOJIOXKHO — NpPW BapuaHT “a” Te
HamansearT, a Npu BapuaHT “6” — HapacTBar.

KopurnpaHe Ha ycnoBusaTa Ha npogaxoburte
Mpn ckoHTMpaHeTO Ha nopTdenna oT
npogaBaybT
nonyyasa onpegeneHa cyma A. Ako ce
n3nos3ea Npocra JUCKOHTHa CTaBka, Torasa:

MEeHUTENHNUn B

OaHkaTa

(1.53)A=>V, (1d),

lNoHexe Cymata Ha MeHuTellHuMuaTa ce
onpepena no Asa Ha4dnHa, TO N BENMMYNHATA A
Ce yCTaHOBsABaA pa3JiM4HO 3a BCEKU OT THX.

|. BapuaHT “a”

KbOeTo i U d ce oTHacAT 3a uMHTepBanuTe

mexay CpoKoBeTe
MeHUTenHnunTe.

Ha

3a npeobpasyBaHeTo Ha dopmyna (7)

noracgdBaHe

onpepenave cnegHnTe Cymu.

n

1

Y (i-td)=n-d=>t= n(l_”_”

o

t=1,

2,...,N.

The amount of interest in both
versions is equally. The distribution
payments is the opposite - Option
"and" they decrease, while Option
"b" — grow.

Correcting terms of sales

In discounting the portfolio of bills
in the bank seller receives a certain
amount A.Ako using simple a
discount rate, then:

Because the amount of the bill of

exchange

is determined

in two

ways, neither quantity A is set
differently for each of them.
[. Variant "a"

@ A:ig{“(n-t+])j].(l-t.d)=%[(1+i.n+i).z.(1-t.d)-izt.(1-t.d)].

Ha

bills of exchange.

where a and d refer to the interval
between the timing of repayment of

For transformation of formula (7)

define the following amounts:
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nt.1—t.d =>t-d) t“=n—]1-d=
2 n;rl 2n3+1
t

KaTto ce 3amecTaT nonydeHute cymu B (7)
M ce HanpaBaT HAkoM npeobpasyBaHus,
nonyyasame:

(8)

n+1

A= P{1+T.(i -d)-id.

As a substitute amounts received
in (7) and do some transformations
we get:

2.n +1}
3

4

9) A=P .34

Ako Z; < 1, npogaBaybT nory4yasa cyma,
KOATO e rno-manka oT goroBopHaTa ueHa P.
Han-enemeHTapHMAT HaumH a ce msberHat
3arybuvte e ga ce nosuwmn ueHata 1/Z; nbTw.

Cnep kopurnpaHe Ha ueHaTta TpsibBa ga
ce NpeMnHe KbM onpefensiHe Ha cymaTta Ha
MEHUTENHMUMTE nNpU HOBaTa LUeHa Ha
cTokara.

lpumep 2
Mo daHHUMe om npumep 1.24 (sapuaHm

“a”) d0a ce Kopuaupa yeogopeHama yeHa, ako
OuckoHmHama cmaeka e 17,5% 200uwHo.

PeweHue:
1. OnpegensHe Ha Z;:

If Z; <1 seller receives an amount
which is less than the contract price
P. Nay simplest way to avoid losses
is to raise the price 1/Z; times.

After adjusting the price should
proceed to determine the amount of
bills of exchange at the new price of
the commodity.

Example 2

According to the data of Example
1.24 (variant "a") to adjust the
agreed price if the discount rate is
17.5% per year.

Solution :

1. Determination of Z1:

6+2

6+1
2, =14 =5 (009-0,0875 - 0090,0875=_* | |= 093525

2. OnpepensHe Ha koeduUMeHTa Ha

KopurmpaHe Ha LeHaTa:

2. Calculation of price adjustment:

1/0,93525 = 1,06923283.

Kopurupaxe Ha HOMWHanNnTe Ha Adjusting the denominations of
MEHUTENHUUUTE: bills of exchange:
1) 3080 000 . 1,06923283 = 3 293, 20:1B.
2) 2900 000 . 1,06923283 = 3100 775181
3) 2720000 . 1,06923283 = 2908 313180
4) 2 540 000 . 1,06923283 = 2 715 851189
5) 2 360 000 . 1,06923283 = 2 523 389748
6) 2 180 000 . 1,06923283 = 2 330 92717

AKO OMCKOHTMpaMme Te3n CyMM CbC CTaBka

Z =

16 872 494,05%s.

If discounting these amounts at
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8,75% (no meToga Ha 6aHKOBUSA [LUCKOHT),
nonyyasame cymarta ot 12 000 000 ns.,
KONKOTO € CTOMHOCTTa Ha cTtokaTta (12 000 000
nB.).

3 293 237, 1({1—@.0,087% =
180

3 100 755, 2 .1—@.0,0875 =
180

540

the rate of 8.75% (the method of
banking discount), we get the sum
of 12 million lev as the value of the
goods (12 million lev).

3 005 078, 849is.

2 558 139, 53s.

2 908 313, 3({1—@.0,0875] = 2144 881, O4s.

720

2 715 851, 35{1—E).O,0875j = 1765 303,40:s.

900

2 523 389, 4{1—1—80.0,0875j = 1419 406,58s.

1080

2 330 927, 57{1—E.O,0875j = 1107 190,60s.

Mpn TEe3anm wusuncneHna e BaXHO Ja ce
YCTAHOBAT M CbOTHOLWIEHUATa  Mexay
NNXBEHUTE N OUCKOHTHUTE CTaBKW, MPU KOUTO
npogaBaybT HAMa fa noHaca 3arybun. Ot
dopmyna 1.55 cnegBa, 4ye TOBa ycnosue e
N3MBbMHUMO B CriydanTe, KoraTto:

12 000 000,0f.

In these calculations, it is
important to identify and
correlations between interest and
discount rates, where the seller will
not be tolerated losses. From
formula 1.55 follows that this
condition is enforceable in cases
where:

(10) i-d=id"*2,
Nno cunarta Ha KoeTo: whereby:
[
11 d* =——F5—
D i(n+2)/3+1
. d
(12) =
1-1*2 4
3

KbaeTo d* 1 i* ca npegenHuTe 3Ha4YeHns Ha
CTaBKuTe, MNP KOUTO NpofaBaybT He NnoHacs
3arybu, T.e., Korato noriyyaBaHaTta OT Hero
Cyma e paBHa Ha LeHara.

[MoBuwaBaHeTO Ha nuxBeHaTa CTaBKa

where d and i are the limit
values of the rate at which the
seller is not making losses, ie when
it receives an amount equal to the
price.
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3a kKpeauta po i* HanbnHo 6anaHcupa
ycnosudata Ha caenkata. EctectBeHo cymaTta

Ha MEHUTENHULNTE e ce
nosuwmn.Bennumnarta npeacraBrsaBa
npeoenHoTo  3HadeHWe Ha  OUCKOHTHaTa
cTaBkKa.

lpumep 3

lo daHHume om npumep 1.25 Oa ce
onpedenu  kakeo mpsibea Oa  6boe
pasHuwemo Ha JluxeeHama cmaseka 10
Kpeduma maka, 4e npodasaybm Oa He

Raising the interest rate for the
loan to i * fully balance the bargain.
Naturally, the amount of bills of
exchange will povishi.Velichinata
represents the marginal value of
discount rate.

Example 3
According to data from example

1.25 to determine what should be
the level of the interest rate on the
loan so that the seller does not

suffer loss of forfetnata surgery if d
= 0,0875.

Solution :

Thus increasing the annual

interest rate to 11.41304348% fully

npemwbpriu  3agyba om  ¢ophemHama
onepauus, ako d = 0,0875.
PeweHwue:
i* = 00875 =011413043
6+2
1- 0,0875
Mo TO3M HauMH NoBUWIABAHETO Ha
roguwiHaTa NMXBeHa CcTaBKka no
11,41304348% HanbJIHO KomMneHcupa

3ary6aTa Ha npoJaBaya OT CKOHTUPaHEeTO Ha
MEHUTENHULMUTE.

lIpumep 4
La ce onpedenam HoOMuHanume Ha

MeHumesnHuyume  (8apuaHm  “a”)  npu
OaHHume om rnpumep 1.24, ako suxgeHama
cmaeka no kKpeduma e 11,41304348% (Ha
wecm mMeceuya), a eoduwHama JiuxeeHa

compensate for the loss of the
seller discounting of bills of
exchange.

Example 4
To determine denominations of

bills of exchange (option "a") in
data from Example 1.24, if the
interest rate on the loan is
11.41304348% (six months) and

cmaska e 22,82608696. the annual interest rate is
Solution :
1) 2000000 + 136956522 = 31869,22s.
2) 2000000 + 114130435 = 3304,35s.
3) 2000000 + 913 043,48 =  3943,48:s..
4) 2000000 + 684 782,61 = 2882,61lius.
5 2000000 + 456 521,74 = B 531,741s.
6) 2000000 + 228 260,87 =  8280,87 ..
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